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(1) f(z) =(z —a)® +3a% LY A(e, 3a?)
BE# OA : y = 3ax
IOEMRE y = f(z) ORED ¢ FEE S/ /
flz) = 3az W, 402 v
f(z) —3az = (z —a)(z — 4a) =0 3a?
&5 P(da, f(4a)) 2EY, p=4a --o--- (%) i
R Q TOBMITY = f(q)(z —q) + f(q) J e
INBEREBRDZ LN 0= f'(q)(0—q)+ f(q)

= 4a? — ¢*

g>0%Y ¢g=2a ... (&)
a>072DT, 2a<4a 2FEVpPp>q  oeees (FEBA#&)

¥

@2 Proas#~TALEBRORE H £ 45,
Qo M~TALTERORE L L ¥5,

§ = (AOPH O#) — (AOQL DiEH) — ‘/p(:z:2 — 20z + 4a?)dz
e

1 4a
=—-4a-12a2~—1--2a-4a2— (z® — 2az + 4a?)dz
2 2 2a
4a
= 2043 — lx3—ax2+4a2a: 16 . (%)
3 20 3
16 , 2 1 . [
(3) (2) &9 30 _§J:D’a_2 (%)
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(1) 75° = 45° +30° X ¥
tan 45° + tan 30° Vv3+1
tan 75° = =
1 —tan45° - tan30° /3 —1

= —*—(ﬁ; DLNEPY. SR (%)

(2) ZODA =75° LV
OA = ODtan75° = (2 + v3)d,

OD d
tan75° 2++/3 (2-3)

LoT, AB=6nDLx
2+vV3)d-(2-V3)d=2v/3d=6 ..d=+3
a=2v3+3,b6=2/3-3,d=+/3 .- (&)

OB

(3) AOAD, APAO IZB\W\T
Z0AD = ZPAO, ZAOD = ZAPO = 90°
MELY L0 B, AOAD « APAO TH 3,
5. AO:AD=AP:AQ .. AP.AD = AOQ?
AOBD ¢ AQBO T ZBOD = ZBQO = 90°, ZODB = ZQOB
DR Y Lo 5, AOBD o0 AQBO
L7d->T, OB:QB=BD:BO .. BD-BQ=B0?  ...... (RERA#)

(4) 3) &V
AD-BD = 1/(2v3+3)2+3-\/(2/5-3) 1 3

=V2U+12V3- V24 - 123 =32 —122. 3= 12
AO?-BO®=(2v3+3)%. (2v3-3)2=(12-9)2 =9

AO*-BO®> 9 3 e
AD-BD 12 ¢ 7 )

- AP.BQ =
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1 1)\?
1) z> v, — kD, =) ...
(1) z - U] \/E>1+x&cw t>(1+m) @

z22log,x LY, t*222...Q
2
O, @&v, tvtl 2¢.22 > (1+l> 1% = (z + 1)2
T

DEY, T > (z+1)2 2720, log, t*! > log,(z + 1)2
Tiebb, z+1>2log,(z+1) Bbosnd,  .oo... (FEFI#)

(2) n £ 2log, n = log, n? <= 2" < n?
n=10t%, 1< 2log,1 =0 IEFHKL,
n=20%k%, 2222 LAYV D,
n=30&x, 2232 LYo,
n=40kx, %<4 LRV,
n=50Lx, 25 <52 ERET,
(1) 9 n 25T, n>2logyn BHRYIEH n+ 1> 2logy(n+ 1) Y ISDT,
n 25 T~ TRR,
£oT, RERZWMATOEn=2, 3, 4 I THB, .- (%)
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(1) @nt1 +boy1v2 = (a, + baV2)(1 +v/2) = (an + 2bn) + (@n + bp)V2 X 1
Gn+1 = Gn + 2by, bypyy = a, + b,
(a1, b1) = (1, 1) & LEOW{E L v
(a2, b2) = (3, 2), (as, bs) = (7, 5), (as, b4) = (17, 12)
(as, bs) = (41, 29), (as, bg) = (99, 70)
£oT, by=12, bs =29, by =70 ...... (&)

(2) (1 =v2)" = ap — byv/2 D7ED
(I)n=1@k%a1=b1=1J:D)55?.DXZ’)
Mn=kD&EmyIoLEE, H%0, (1 =V2)F =a) — byv/2 &+ 5,
SPEE, (1= V2R < (g — bv/2)(1 - V2)

= (ak + 2be) — (a + bk) V2 = apy s — br41v2
£oT, n=k+1 THRED ST,
(D, (D) &0, F_TOEKE 1 1o T
A=V2)" =, ~ b, V2B DD, ...... (REBH#)

(3) bngiby_g —b,2 = (@n +bn)bney — by(a,_; + bn—1)
= Anbn_1 —bpap_1 = (a,_; + 2bn—1)bn—1 — (@p_; + bn—1)an—_1
=2b, 2 - Qp—12--vn- (*)

SIT I+ V)" =an + b2 e (1 — VO™ = a, — by /2 Hi0 kBT T
(-1)"=a,% - 25,2 kv, 26,2 —q,? = (=1)"*+! (n 2> 9)
£27T, 2,42 -q,_,2= ()" &nzoT,

n220LE, byiib,_q— b2 = ()" &is, ... (%)

(4) (1) &9 bg =70, bg = 20 >
Wp—299=1%L725p, g oEPTaANT,
0=29%x2+12---Q
29=12x245...®@
12=5x2+2--.%®
9=2%x24+1---@ kv,
1=5—2X2=5—2(12——5X2)=5><5—12X2=(29—12X2)><5—l2><2
=29%5-12x12=29 x5 — (70 ~ 29 x 2) x 12= 70 x (—12) + 29 x 29
T0p—20g=1& 70 x (~12) +29 x 20 = 1 W~iD & BT,
0(p+12)-29(g+29) =0 L9, p+12 =29k, q+29 = 70k & 72 5.
ZZTC 02p, ¢ £100 #WT O, k=1n¢xT,
p=17,g=41¢7%25%,  ...... (%)
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